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1
Introduction

At RAN4#15 meeting, 23-26, January, Boston, a BS ON/OFF time mask was proposed for 1,28Mcps TDD (see R4-01-0138) and had been approved. The present contribution proposes a corresponding content to the Section 8 of TR 25.945 "Base station conformance testing (TDD)", which aims at the alignment of the conformance test description for transmit ON/OFF power with the BS ON/OFF time mask mentioned above.
2
Conclusion


It is proposed to add the following text in TR 25.945 

---------------------------------- changes to TR25.945 begin -------------------------------------

8.3.5
Transmit ON/OFF power

8.3.5.1
Transmit OFF power
8.3.5.1.1
Definition and applicability

Common with 3,84Mcps TDD option.

8.3.5.1.2
Conformance requirements

The transmit OFF power shall be less than –82 dBm measured with a filter that has a Root-Raised Cosine (RRC) filter response with a roll-off ( = 0,22 and a bandwidth equal to the chip rate.
8.3.5.1.3
Test purpose

Common with 3,84Mcps TDD option.

8.3.5.1.4
Method of test 

8.3.5.1.4.1
Initial conditions

The conformance testing of transmit OFF power is included in the conformance testing of transmit ON/OFF time mask; therefore, see subclause 8.3.5.2.4.1 for initial conditions. 























8.3.5.1.4.2
Procedure

The conformance testing of transmit OFF power is included in the conformance testing of transmit ON/OFF time mask; therefore, see subclause 8.3.5.2.4.2 for procedure.

8.3.5.1.5
Test requirements

The conformance testing of transmit OFF power is included in the conformance testing of transmit ON/OFF time mask; therefore, see subclause 8.3.5.2.5 for test requirements.
8.3.5.2
Transmit ON/OFF time mask

8.3.5.2.1
Definition and applicability

Common with 3,84Mcps TDD.

8.3.5.2.2
Conformance requirements

The transmit power level versus time should meet the mask specified in figure 8.3.5.2.2.1.
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Figure 8.3.5.2.2.1: Transmit ON/OFF template for 1,28Mcps TDD
The reference for this requirement is subclause 6.2.5.2 of this Technique Report.
8.3.5.2.3
Test purpose

Common with 3,84Mcps TDD

8.3.5.2.4
Method of test

8.3.5.2.4.1
Initial conditions

(1) Connect the power measuring equipment to the BS antenna connector.

(2) Set the parameters of the transmitted signal according to table 8.3.5.2.4.1.1.
Table 8.3.5.2.4.1.1: Parameters of the transmitted signal for transmit ON/OFF time mask test for 1,28Mcps TDD

Parameter
Value/description

TDD Duty Cycle
TS i; i = 0, 1, 2, 3, 4, 5, 6:



transmit, 
if  i is 0,4,5,6;


receive, 
if  i is UpPCH,1,2,3.

BS output power setting
PRAT

Number of DPCH in each active TS
8

Power of each DPCH
1/8 of Base Station output power 

Data content of DPCH
real life 

(sufficient irregular)

8.3.5.2.4.2
Procedure

(1) Measure the power of the BS output signal chipwise (i.e. averaged over time intervals of one chip duration) over the transmit off power period starting 11 chips before the start of the receive time slot TS i = UpPCH, and ending 8 chips before the next transmit time slot TS i=4 starts, and with a measurement filter that has a RRC filter response with a roll off ( = 0,22 and a bandwidth equal to the chip rate. If the power measuring equipment is based on signal sampling, the sampling theorem shall be met. In this case, the power is determined by calculating the RMS value of the signal samples taken at the measurement filter output over one chip duration.

[Explanation difference:]
For the 1.28Mcps chip rate TDD option, one frame(10ms) consists of two subframes(5ms), and one subframe consists of 7 timeslots, (the subframe is shown in section7.2.1 of 3GPP TR 25.928), so the number of timeslot i should be 0, 1,…,6. In addition, for the 1.28Mcps chip rate TDD option, the DL reference measurement channel for 144kbits/s need two timeslots, each consists of 8 DPCH(SF=16).So the number of DPCH in each active TS should be 8. 

---------------------------------- changes to TR25.945 end -------------------------------------
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